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Topic:- General Knowledge and Logical Knowledge

1) If BDFH is coded IKMO, then how is LNPR coded? / 9f¢ BDFH &Y IKMO ¥ ®ifed far srar g, @t

LNPR &) $ Hifsd fear s
1. SUWY
2. QOSU
3. RPNL

4. SUQO

Correct Answer :-

« SUWY

2) Find the odd one out: /Wﬁ'ﬂ'ﬁ TTd HIoE:
1. Tea and Coffee / T AYUT BT

2. Cycle and Scooter / '{-IIC\SBI')G dYT ¥p R

3. Rifle and Sword / JIH d dUT dAdR

4. Shirt and Tailor / PHIST TUT ol

Correct Answer :-

« Shirt and Tailor / BT TUT oIl

3) Find the odd one out: / T faus ﬂﬁﬂﬁﬁlﬁ:
1, 11, 20, 28, 34,41, 46
1. 28

2. 11



3.34

4. 41

Correct Answer :-

. 34

4) In an office there are the following positions: Who among the following is a production manager under

Mr. Sudhir? / T ®Tatad § 3 ug §: Fafafaa & 9 o9 g8k & srdi= Sare udus 82

(emera] Manager
Mr Kadam
|
| | |
Supervison | Supenvisor 2 Supervisor J
Mr. Mahesh M. Ginsh Mr. Sudbir

| * | ] | ! | |

Foance Manager  Sales Manager  ProdwctonMusager  Fownce Munager  SalesMunager  Production Mansger  Sales Munager Finnce Musaget Production Manager
Mr. Mazish Mr. Kunal Mr. Dinesh Mt Rebim M. Ranit Mr. Pradeep MrMoban  Mr Zaheer Mr Jatin

1. Mr. Pradeep / i udia
2. Mr. Ranit / 1 3f0rq

3. Mr. Dinesh / 8t flg=1

4. Mr. Zaheer / ‘}ﬁ\_rl_EﬂT

Correct Answer :-

e Mr. Pradeep / i udlg

5) In a certain code zep zap zik means catch the ball and zik tik lik means the blue shirt which is the word
for the in that language / T WTH PIS U ﬁ, zep zap zik PT 3% catch the ball; zik tik lik BT 31 the blue
shirt BT 8 | 39 IS HTHT H the ¥ 1T forvy v1eg o1 30Tt fopar man 32

1. lek
2. zik
3. zap

4. zep

Correct Answer :-

o Zik



6) In a certain code language, Talk to me means Tu Nam Pit; Give me that means Su Ram Nam; Give to him
means Pi Tu Su. Which is the word for Give to me in that code language? / Udh W IS HIUT 'l?f', Talk to me
&7 31 Tu Nam Pit; Give me that b1 31 su Ram Nam YT Give to him BT Y pi Tu su T;ﬁ?IT %I '&"Hﬂ'ﬁ'@'
UTYT H Give to me & ToTU fop T Teg &1 S¥dATA fHuT T 82

1. Pi Tu Su
2. Pi Tu Ram
3. Nam Ram Su

4. Su Tu Nam

Correct Answer :-

e SuTuNam

7) If ANSWER is coded BMUUHO, then how is QUESTION coded? / afé ANSWER @Y BMUUHO Q BIfgd

fopaT STt 8, A QUESTION BT H Pifsd fHar SRR

1. RTFRUHPM
2. RTGQWEFSJ
3. RTGQFWSJ

4. RTGQFWIS

Correct Answer :-

e RTGQWFSJ

8) If BANGALORE is coded NABLAGERO, then how is HYDERABAD coded? /qﬁ BANGALORE &1

NABLAGERO | ®{&d {1 SITdT 8, 9 HYDERABAD Y $ Hifed fhar s

1. HYDERADAB
2. HYDAREBAD
3. DYHERABAD

4. DYHAREDAB

Correct Answer :-

e DYHAREDAB

9) What is the probability of randomly drawing an Ace or a King card from a pack of cards in one attempt? /

%mmﬁmaﬂwﬁﬁmwﬁwmmﬂwmﬁmﬁﬁmw



LA
m| Wk

1.
8
52
2.
2
52
3,
1
2
a,

Correct Answer :-

10) A river that originates in Tikamgarh is also referred as Pushpavati. The name of this river is /

FrpiTe A I 53 U ! o gouradt AT A ST ST 81 SH A PIAM @
1. Panbatti / OTIecll

2. Ken / B

3. Chambal / T

4. Pahuj / UGSl

Correct Answer :-

« Pahuj/Ugyl

11) Who is the present Chief Minister of Kerala? / A & AU 'ﬂ@"ﬁﬁ CaE %'?
1. Oommen Chandy / 3 ot

2. AK. Antony / Q%Qf:ﬁ

3. Pinarayi Vijayan / ﬁ:TRTEF fasraa

4. V.S. Achuthanandan / Eﬁ@ &W

Correct Answer :-

« Pinarayi Vijayan / {0918 faoom



12) On which date did the Modi government announce demonetization? / g aa &1 At ReR A

faugiovor &t gryon 3t 0t

1. October 31, 2016 /31 3Hdgdy, 2016
2. November 15, 2016 / 15 ddHR, 2016
3. November 8, 2016 / 8 Ad¥sR, 2016

4. November 9, 2016 / 9 AdR, 2016

Correct Answer :-
e November 8, 2016 / 8 Id¥sIR, 2016

13) Which one of the following pacts sought to resolve the Hindu-Muslim differences? / IBE) Wgﬁ?ﬁﬁ

4 o A ffg-gaaa = 7avel o ga S &1 7Pt A
1. Lahore pact / ATER FHSIAI

2. Gandhi-Irwin Pact / Tt} 3R qwgian

3. Poona Pact / AT THSIT

4. Lucknow pact / TR, THSAT

Correct Answer :-

« Lucknow pact / TGS, JHST

14) Which fort is said to be associated with the Ramayana? / DT §Tf RTHRIOT & e SaraT T

82

1. Gohad Fort / &g gi

2. Bandhavgarh Fort / STaTTG gif
3. Malwa Fort / ATQTaT gif

4. Narwar Fort / IRdIR @Tf

Correct Answer :-

« Bandhavgarh Fort / aﬁm _g'Tf

15) Which of the following is the 28t State of India? / T & & HRd BT 287 AT P ATR?
1. Gorkhaland / TRETAS



2. Jharkhand / IRES

3. Uttarakhand / 3cRIGS
4. Chhattisgarh / m’rl_d

Correct Answer :-

e Jharkhand / WS

16) Which of the following banks is not authorized to open accounts under the Jan Dhan Yojana

scheme?/ﬁ?ﬁﬁﬁqwa?mﬂqm%aﬁm@ﬂﬁ%mmqﬁ%?
1. HSBC Bank / TIUTE R} 8
2. IDBI Bank / 3T SIe13TS S

3. ICICI Bank / 3TS HISTSHISATS S
4. Union Bank of India / Qﬁ'q:[ % 3T sfear

Correct Answer :-

« HSBC Bank / TIUge} §&

17) The playing time of the full version of the national anthem is approximately seconds. / XTI
& YUl APV BT qIGTDHTA THT JYHUS g |

1.58
2.52
3. 68

4.75

Correct Answer :-

18) Gujari Mahal and Gwalior Mahal in Gwalior were built by / TaTferaR | '{]Trl'\ﬂ Hed 3R TarferR
HEd 37 gRITIA T Y

1. Man Singh Tomar / oH Rig amR
2. Raja Bhoj / ITSTT HIST

3. Raja Dumana / XTGIT gHIT
4. Scindia Devi / Rifoa <at



Correct Answer :-

e Man Singh Tomar / Wﬁl@'?ﬁm

19) What is Saang a type of? / JT Tb YBR BT AT %?
1. Traditional food / TRURFTA HIoH

2. Language / HI¥T

3. Folk music / @l It

4. Folk dance-theatre / Cidh T JTTAT

Correct Answer :-

« Folk dance-theatre / Tl T AT

20) Amjad Ali Khan is a famous exponent of / 3[HSIq Gl?ﬂ@}f'mw m%
1. Sitar / FIAR

2. Veena / ATOT

3. Tabla / ddcll
4, Sarod/ﬂﬂa

Correct Answer :-

. Sarod/ﬂila

21) Who among the following is NOT one of the recipients of Arjuna Award 2015? AeekkEac GIﬁT'T

REPR 2015 b YD IS & A TH T8l 32
1. Dipa Karmakar (Gymnastics) / ST FHBR (cargrH ﬁﬂ'l)

2. Jitu Rai (Shooting) / ST 1 (FRIAETST)
3. PR. Sreejesh (Hockey) / Ut 3R e (Bm)

4. Anoop Singh (Wrestling) / 30 fig (HRciaToi)

Correct Answer :-

« Anoop Singh (Wrestling) / 3H-JU Rig @-‘K‘ﬂaﬁﬂ)

22) Pandit Ravi Shankar was well known for his mastery in / ufed 3fa giwr £ aaa # gt HeRd *
ReuRis d



1. Sitar/ I%lalq
2. Violin / arAfe

3. Flute / SIGRY
4, Sarod/ﬂﬂa

Correct Answer :-

« Sitar/ AR

23) “Tirthraj” is the name given to / «fydfRTer A 3'\& fear mar %
1. Amarkantak / 3R CH

2. Orchha township / 3RBT HET

3. Khajuraho / @W

4. Kanha national park / PIg Tl@qm

Correct Answer :-

o Amarkantak / AR CH

24) The gas that leaked in the Bhopal Gas Tragedy in 1984 was / 1984 # e T Tt # R areft
A9 @

1. Carbon Monoxide / T lﬂ=h31TqH|ss

2. Carbon Dioxide / BTe SIS HIISS
3. Methy! Chloride / FHITSA FIRTSS
4. Methyl Isocyanate / ﬁr?ﬂsa mﬂﬁﬁ?

Correct Answer :-

» Methyl Isocyanate / ﬁ[ﬂl%ﬂ 3 Is'H\IHIs:I c

25) Deodhar Trophy is related to which sport? / aWR E'T'Cfﬁ g Qe Q gwEfed %?
1. Cricket / fhope
2. Volleyball / Ficiiaia

3. Football / pedld
4. Tennis / 9



Correct Answer :-

« Cricket / fohdbe

26) 24™ Amendment deals with / 243-? LRI m et %

1. The procedure of the election of the president / Tl'gqﬁ & J-1d CARIE|
2. Scheduled caste and tribes / Hﬂﬁﬁlﬁ SIfaar 3R STt

3. Fundamental rights / HAHd DR

4. Directive principles of state policy / I & it FE=Ie® da

Correct Answer :-

« Fundamental rights / HeTHd DR

27) Gopal Krishna Gokhale founded the / TUTA $WT TRAA A SHB! RITIAT 1
1. Bombay Presidency Association / S Ufet QF]”%!QQ 5

2. Servants of India society / YR TS & Jadb

3. Poona Sarvajanik sabha / YT BICSIREE

4, Landholders’ Society / CERERRIRIE]

Correct Answer :-

o Servants of India society / YR THS & Jadb

28) The Fundamental Rights have been incorporated in which part of the Constitution of India? /

TaYd USRI ®I YR & \fau™ & {6 yrT & wnfire forar mar g2

1.3
2.4
3.2

4.8

Correct Answer :-

29) According to India State of Forest Report — 2015, which State has highest forest cover in
the country? /| ¥R ¥7og a7 RUId-2015F TR ¢ F HT 7a A Tad 34t a7 a6 82



1. Arunachal Pradesh / 3RSUTIA UG
2. Andhra Pradesh / 31T¢/ Q%QT

3. Madhya Pradesh / 7eT U

4. Nagaland / =7 S

Correct Answer :-

« Madhya Pradesh / H¥J PR

30) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 3 & 7 yaen #, WM BT TS HH IUFRIG &1 Ted HUIST Ugg
6,17, 39, 72,116, 171, 237, 314, 402, 500

1.72

2.314

3.237

4. 500

Correct Answer :-

e 500

31) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply
* => Division
/ => Addition
- => Equal to
= =>Minus /

=N &1 grauTiyde srera &Y iR Faferf@d & e um @i
g,

+ => TOn

* => YN

/ => TN

- => H WK



(11=3)+2+(40 *2) *4 + (1+10)
1. 600

2. 800

3. 1600

4. 400

Correct Answer :-

« 800

32) Complete the series choosing the missing number: / U J&AT JAP &l C| Ul PIfoTT:
11,13,17,23,31,

1. 47

2.41

3.35

4. 39

Correct Answer :-

. 41

33) Complete the series choosing the missing number: / T JBAT TAB YT HI GRT HIOIC:
3645, 405,135,15, _

1.3

2. 10

3.5

4.1

Correct Answer :-

34) Select the option that is true about the Statements and Conclusions given:

Statements:
All markers are sketch pens



Some sketch pens are pencils

Conclusions:
I. Some pencils are not sketch pens
I1. All sketch pens are not marker /

9 fawer &1 7 Fiforg wifes e e Hy= iR fFrpuf & o & w8l 2

Y

Tl AR Wb U §

O Thd 07 IR@ &

e

1. $o URe wbu 09 T8 §

11, 9t e O AR 18N &

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY I 3R 7 & FAsHY 11 STTRT & §

2. both conclusion I and II follows / F55Y 1 3R 11 ST A &
3. only conclusion II follows / &Had sy 11 STV pXdl g
4. only conclusion I follows / Had pY 1 STV hdl g

Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 81 ftp® 1 3R 1 g fFAmef 11 SR A B

35) Select the option that is true about the Statements and Conclusions given:

Statements:
All knives are swords
Some swords are daggers

Conclusions:
I. Some knives are daggers
I1. All knives are daggers /

39 faw e &1 994 PR Sifp I T8 HYAT 3R fFrepul & R & T @:
DY

Tt a1 aeanr &

ﬁw:

I $O AP ok &

11, Wft a1 WoR



1. neither conclusion I nor conclusion II follows / E:Pf fAaspy 1 3R T BOI sy 11 SR GG %
2. both conclusion I and II follows / ﬁ'@?ﬁh GﬁT II ?(;Fﬁ STTERUT m?r %

3. only conclusion II follows / Fad (B 11 STTERUT pdl %

4. only conclusion I follows / Fad (TP | IR HdT %

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / _Eﬁ ﬁ'@b_él G?IT «J 33[ ﬁEﬁﬁ 1T 3T GG %

36) Select the option that is true about the Statements and Conclusions given:

Statements:
Some boxes are bundles
Some bundles are boards

Conclusions:
I. Some boards are bundles
I1I. Some boxes are boards /

39 faweq &1 99+ FIRT Sifp I T8 HYAT 3R fFrepuf & o & T @:
Y

PO TG dSA T

PO d5d IS @

e

I PO EIS dsa @

ILPO TR S 8

1. neither conclusion I nor conclusion II follows /= g fTSHT I 3R 7 81 FHH 11 SRV H=dl §
2. both conclusion I and II follows / FT5HY I 3R 11 GHT STERTT Hd §

3. only conclusion II follows / ad fASHY 11 STIRTT BT &

4. only conclusion I follows / B HY [ TRV BT §

Correct Answer :-

« only conclusion I follows / Had SHY [ TRV BT §

37) Select the option that is true about the Statements and Conclusions given:

Statements:
Some mountains are hills
All hills are valleys



Conclusions:
I. Some mountains are valleys
II. No hill is a mountain /

39 fawey &1 9g9 Fifere Sife AT e $y=T 3R fAaseul & IR # Ig) 8

DY

|t vgIfEar uifeat §

oo

I. $O Udd aifeaf &

I1. B +ff verd) uda A &

1. neither conclusion I nor conclusion II follows / 7 &1 F5HY I 3R 7 & FASHY 11 SFTTRT Hd &
2. both conclusion I and II follows / F5HY I 3R 11 G TRV Hd &

3. only conclusion II follows / ad fASHY 1T STIRTT BT &

4. only conclusion I follows / B SHY [ TRV BT §

Correct Answer :-

« only conclusion I follows / Had T5HY [ TRV BT §

38) Complete the series choosing the missing letter/s: / T &R/ME&RT Pt TADR Y& B
RT BIfoTT:

A, EF,B,FG,C,______
1.D

2. HI

3. GF

4. GH

Correct Answer :-

« GH

39) The series given below contains a sequence of humbers. Identify the incorrect combination: /

IR Q1 e |, el BT U HH IufRG 2| Tad Yo Ugane:

11,2, 21,3,32,4,41,5,51,6



1. 11
2.51
3.21

4. 32

Correct Answer :-

e 32

40) Complete the series choosing the missing number: / T JWT TAB YT HI TRT HIOIC:

121, 169, 289, 361,529, _
1. 625
2. 676
3.729

4. 841

Correct Answer :-
e 841

Topic:- Mental Ability and Mental Aptitude

1) |f the following two squares shown below overlap, which one of the following options

is formed? / af¢ @Fa ef a9 Jfdcafaa g € o BFa & & =ia a1 s TFeT a=ar &7




2.
W |
D
Y
3.

A

4.

Correct Answer :-

I
T

2) |n the sequence shown below, which figure comes next? / @i 231 731 & &, 390

ST Fh T 3T

QX}

1.

@




9
@

Correct Answer :-

o

3) In the sequence shown below, which figure comes next? R E LR T T Hﬂ?ﬁ i °7
HEER

t 4 ¢ 6 ?

Z.V
L
.

Correct Answer :-

v

4)



The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

2 7 e §, erarY 3R Y@ &1 v HH FAfRd €1 T S ygHe:
i.trei8012rtie

ii.trei8012rtie

iii.trei8012rtie

iv.trei8012rfie

4. iii

Correct Answer :-

5) Two pipes can fill a tank in 10 hrs and 20 hrs, respectively. How long will they take to fill up the tank,
if they are used together? /a‘rmwéﬁﬁm 10 9 3R 20 e H WX ThA B trl%%rtngq%a?
BI TH Y W, A B WA H o= aw7g arm?

1. 6 hrs 35 min / 6 ©¢ 35 e
2. 6 hrs 30 min / 6 °¢ 30 fiAe
3. 6 hrs 40 min / 6 T¢ 40 fie

4. 6 hrs 45 min / 6 T¢ 45 f&Fe

Correct Answer :-

« 6 hrs 40 min/ 6 ©¢ 40 e

6) The present age of a Man is 2 years more than four times the age of a Boy. Four years hence, Man’s
age will be 16 years more than twice the age of the boy. Find the present age of the Man. / U e ot

FAUT AT AP TSP DI Y & AR T A 2 7Y 34U g1 4 a9 q1¢, 39 AT B 31 TS A5
D AT P S A 16 TY AP g | I AfeT BT IAU Mg 1 DI

1. 40
2. 36
3.38

4. 30



Correct Answer :-
e 38

7) On selling tea at Rs. 40 per kg, a tea merchant incurs a loss of 10 %. Calculate the amount of tea sold,

if the total loss is Rs. 80. / T & SATURY I AT 40 U Ufd {51 891 |, 10% 1A Bt 31 Tfe
IIP! Hd g 80 FUY &, A STP §RT I T3 AT B ATAT B T PO |

1. 19 kg / 19 fom.
2. 20 kg /20 fouT.
3. 18 kg / 18 fouIl.
4. 17 kg / 17 fobu.

Correct Answer :-

« 18kg/ 18 fobum.

8) What is the number of times 2079 is divided by 189, so that the remainder is less than 189? / 2079 G|

189 gRT fra-it IR fyunfora fear o awar &, fora Auwa 189 A A TA?
1.12
2. 10
3. 11

4. 13

Correct Answer :-

9) What is the speed of a train of length 150 m, if it passes a pole in 5 sec? / 150 Tt et Wm 4|
Tfa 1 3, S T GH DI 5 9. H UR $edl 82

1. 110 kmph / 110 foodT. Tfer ger
2. 111 kmph / 111 fooeit. ufct ger
3. 108 kmph / 108 Tt Ufd der
4. 100 kmph / 100 Tt Tifcl ger

Correct Answer :-

« 108 kmph / 108 foH. Ufa der



10) What is the difference between the smallest 5-digit number and the largest 3-digit number? / 5 3Pl

aTell a9 DI T-AT TUT 3 3P aTell AT IS1 WA BT 3a? fra=r ghm?
1. 9999
2. 9000
3. 9001

4. 10000

Correct Answer :-

* 9001

11) Two individuals X and Y can assemble a machine in 12 days. If Y alone can assemble it in 48 days;

then, X can assemble it single-handedly in: / ﬁﬁXHWYWWﬁ 12 ﬁ‘—rﬁer\ﬁm W%I
uﬁygﬁﬁwmﬁqﬁmﬁﬁﬁ&ﬁﬁmmm%ﬁxmsﬁﬁmﬁﬁﬁﬁmw
Ybhdl 5?

1. 40 days / 40 f&1
2. 24 days / 24 T&Ar
3. 16 days / 16 T&AT

4. 20 days / 20 f&Af

Correct Answer :-
« 16 days/ 16 T

12) If Shahid bought a table for Rs. 200 and sold it for Rs. 250, then, what is his gain percentage? /'*.TI%

MR = T B 200 TUA H WRICT 3 250 TUA | o9 €1, At STDBT ATY Wia=rd w1 g2
1. 45 %
2.25%
3.35%

4.15%

Correct Answer :-

e 25%

13) The least square number divisible by 5, 6, and 10 is: / 5, 6, 3R 10 9 faurfoE 3-1% aqrell g9 B
@ e 3



1. 1600
2. 600
3. 900

4. 300

Correct Answer :-

e 900

14) If the average marks of three batches of 50, 60 and 70 students respectively is 65, 50 and 80, then the
average marks of all the students is: / Tfe 50, 60 TYUT 70 faenfia e s & m Cal Gﬁﬂﬁ
PU: 65, 50 3R 80 2, A N R & e wreates Pre 2

1. 66
2.55
3.62

4. 60

Correct Answer :-

15) If the diagonal of a rectangle is 10 cm and is twice the width, then what would be its area? /'CI'% T

3T HT faput 10 At @ SR SHD! AISTS BT SRET B, O SHDT &TBd T FRI?
3sqom / ziﬁa?‘r AT

10+/3 sqem /1043 @91 ST

12.5+3 sqem / 1253 @ @

3.

4.25sqcem/ 25 it it

Correct Answer :-

3sqom Iﬁxﬁfﬁ'{f AT

16)



A gets Rs. 33 when a sum of money was distributed among A, B, and C in the ratio of 3 : 2 : 5. What will
be the sum of money? /WWW&T@A, B, IRCHAA3:2: S%WﬁmmajﬁA
I 33 FUY UTW Gid § | YFIRTIRT BT IRT AT 12

1. 99
2. 111
3. 110

4. 121

Correct Answer :-

17) A person spends 75 % of his salary. If his salary is increased by 20 %, and he increases his
expenditure by 10 %, find the percentage increase in his savings. / T feT 31U dd BT 75% W
FaT 81 Ui TP da9 A 20% P JIS 81 A1, 3R 8 31U T & 10% B G FX @, A SHS! I=9a
1 Ufd=rd J1d Fiforg|

1.30 %
2.60 %
3.40%

4. 50 %

Correct Answer :-

* 50 %

18) Rani's present age is two-fifth of the age of her father. After 8 years, she will be one-half of the age of
her father. How old is the father at present? / T &Y S I9& fudr &1 S 1 2/5 %I 8 a9l & diq, dg
3 forar o1 3y @Y ameft g st | 3Tk frar #Y adu oy faet 32

1. 40 years / 40 Gl
2. 32 years /32 Gl
3. 48 years / 48 Gl

4. 36 years / 36 Gl

Correct Answer :-

e 40 years /40 Gl



There would be a 10% loss, if a toy is sold at Rs. 10.80 per piece. At what price should it be sold to earn a

profit of 20%? / TS TP fAEA BT 10.80 TUA UfY g & F=m wra1 2,  10% ST S 8159 20% BT
ATYH UTW A & oI fvd gea wR o= ST =nfge?

1. Rs. 12.00
2.Rs. 13.20
3. Rs. 14.40

4. Rs. 12.96

Correct Answer :-

e Rs. 14.40

20) Shiva's age is twice the age of Sneha. Sneha's age is one-third of her father, Sriram's age. If Sriram is

36 years old, then what is Shiva's age? / RTaT @} 31T TgT B MY P SR 81 TGT B MY IAP
o, SR Y 3y ) vep-faeTs @1 afe v #Y 3mg 36 9 8, ) Rrar 3t ey fHa- 22

1. 24 years / 24 Gl
2. 6years/ 6 CL
3. 48 years / 48 Gl

4. 36 years / 36 Gl

Correct Answer :-

e 24 years/24 Gl

21) In a 50 litre can; milk and water is in the ratio 3 : 1. If the ratio has to be made 1 : 3, then the
quantity of water that has to be added further is: / T 50 e F9 ﬁ, 1) AMUN3:1F S{UTd | %:I
i 3 SUTa B 1 : 3 foraT ST 8, 0 1 9§ Firaie oM arat 5 @1 sifafaa am A gkt

1. 120 litre / 120 Tex
2. 100 litre / 100 TleX
3. 80 litre / 80 TlleX

4. 90 litre / 90 TfIeR

Correct Answer :-
« 100 litre /100 WX

22) In a school, 65 % students are girls. All the students contribute towards raising a fund for a social
cause. All the girls contribute 40 % of the total fund. If the total fund to be raised is Rs. 18,550, and the



contribution of each boy is Rs. 265, then, the contribution of each girl should be: / T faemaa 9 65%
faemff wsfrai &1 Tt faemdf arfore ot & e «=R1fR v &3 & gireE #3d &1 3t
asfHal A Fa RIR F 40% BT ANTGH fhan| afe T 31 I arelt T oFRTRT 18,550 T 8,
aﬁ?uﬁﬁaﬁwmzﬁs TUA g, A UAP dSP! BT GRTH A ghm:

1. Rs. 85.31/85.31 W
2. Rs. 88.22 / 88.22 3UY
3. Rs. 95.13/95.13 3UY

4. Rs. 90.26 / 90.26 ST

Correct Answer :-

e Rs.95.13/95.13 308

23) In a digital calculator, the digits 2, 5, 8 and 4 are not working. If it is a-6-digit calculator, what can be
the maximum difference between 2 numbers (both the numbers are > 0 and are formed without
repetition of any digit) using this calculator? / b feforea WE? U 3i® 2,5,8dUT 4 P g B
TR 81 93 T8 6 3 are Fapaer 8, d 39 bapae’ BT SUUNT Hd gU 2 TBAT3H (G WS 0
T TS 3P A T & 3R ZH 3| b1 ST I8! 7T ) P HeA AfUpa fhaar 3iar 8 godr 82

1. 976310
2. 872631
3. 772631

4. 171631

Correct Answer :-

* 976310

24) The arithmetic mean of 35 numbers is calculated to be 75. If each number is increased by 6, then the
mean of the new number will be: / 35 TST3M BT THIAR HIH 75 %I tri%u‘éiﬁ??r@:nﬁ 6 aﬁq@s‘r
1Y, | 1S T &1 A fe g

1. 41
2.6
3.55

4. 81

Correct Answer :-



25) An alloy contains copper and zinc in the ratio 8 : 3. If the alloy contains 18 kg zinc, then the quantity
of copper in the alloy is: / T YeTg & TiaT GUT ST 8 : 3 % 3rJurd | g1 afe forgor & 18 fbam. s
&, o a9 B 7 e g

1. 58 kg / 58 fonm.
2. 48 kg / 48 fobUII.
3. 28 kg /28 fouIl.

4. 68 kg / 68 fapu.

Correct Answer :-

. 48 kg /48 o,

26) If Peter can hire 6 men for 11 days and he pays $462, then how many men he can hire if he has $420

and he needs them for 15 days? / Tfe WeX ¢ @M &Y 11 &7 & 1T H1H U= T & 3R I $462 BT
YITATH HedT ¢ | Tfe IHP U $420 7 3R I 15 3 & fore @i ) o1 IR 7@ 9t saaean g,
ot 98 fPaq @l &) STH IR 7@ GHd1 82

1.4
2.7
3.5

4.8

Correct Answer :-

. 4

27) Ram bought an iPhone for Rs.75,000, Mac book for Rs.95,000, iPad for Rs.30,000 and sold all the
items to Shyam at an average price of Rs.70,000. How much Profit did Ram made out of the deal? /ITH 4

TS TSI 75,000 TUY BT, AP T 95,000 TUY, TS 30,000 U H w@dier 3R 37 IR aegaii &
70,000 ¥UY & NTT YT W ATH o1 39 a1 379 A 59 A | fa=m ary sifofa faran

1. Rs.11,000 / 11,000 0T
2. Rs.12,000 / 12,000 ST
3. Rs.10,000 / 10,000 Y

4. Rs.10,500 / 10,500 ST

Correct Answer :-

« Rs.10,000/ 10,000 ST



28) A train of 120 m long is running with a speed of 65 kmph. In what time will it pass a man who is
running at a speed of 5 kmph in the same direction in which the train is running. / ¥ 120 T, ?ng qreft
YS! 65 fpft. ufar g1 5t nfa & = 38} 81 g Yoy s fri. ufar et &) e F Yot 1 fezm
# g aret Te faa 3! fba ¥9g & IR SR e

1.5.8sec/5.8 @f
2.6.6sec/6.69.
3.84sec/84 9

4.72sec/729.

Correct Answer :-

e 72sec/7.2 @

29) Find the average. / 3Nua Ferferd |
31,41,51,61,71 & 81

1. 56

2.58

3.53

4. 60

Correct Answer :-

* 56

30) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IEE] ﬁ'a ™

IR Udl 4 ¥ 2 o M vd & e THE S 91 T A8 72

Hyva Belgium N.V. - S.A.
Industriepark / Z.1. Blauwe Steen,
Blauwe Steenstraat 85

2550 Kontich, Belgium

(i) Hyva Belgium N.V. - S.A.
Industriepark / Z.1. Blauwe Steen,

Blauwe Steenstraat 85



2550 Kontich, Belgium

(ii) Hyva Belgium N.V. - S.A.
Industriepark / Z.1. Blauwe Steen,
Blauwe Steenstraat 85

2555 Kontich, Belgium

(iii) Hyva Belgium N.V. - S.A.
Industriepark / Z.1. Blauwe Steen,
Blauwe Steenstraat 85

2550 Kontich, Belgium

(iv) Hyva Belgium N.V. - S.A.
Industriepark / Z.1. Blauwe Steen,
Blauwe Steenstraat 85

2550 Kontich, Belgium

4. iii

Correct Answer :-

Topic:- Science and Simple Arithmetic
1) (888)" A = (888)% Which of the following would come in the /A to make the expression true? /

(888)" A = (888)% 3WIeFd U2 # FF Fo & v A F v W Ted & § ®id & dw
HITET?

L X 888



2.+ 888

3.+ 888

4. X8

Correct Answer :-

X 888

2) TInthe given figure, sides AB and AD of quadrilateral ABCD are producedto E and F,
respectively. If #CBE = 100°, then ~CDF = | RBuaw ®F A ﬂ?_[_ﬂiﬁl’ ABCD &t =y

ABmm AD.%w# E 3T F a5 @5 715 §1 Iig @01 2CBE = 100°, & £CDF =

F.

E
3.80
4.110
Correct Answer :-
. 80
3) (5.5)*—(3.5)* (5.5)*—(3.5)*

(5:5)%+ (5:5)% ig qual to: 527 55)% o e 2
1. 180
2.18
3.425

4. 1.8



Correct Answer :-

« 18
4) An image that cannot be obtained on a screen is called a/an . | TP Q'\‘IT PIGICERSE tR%
TR U 81 fopar =1 aar, Pgardr gl

1. erect image /Ga"‘iﬁ o ufafss
2. virtual image / STHRI Ufdfdd

3. real image / ARKIfd® Ufdfdd

4. inverted image / el ufafss

Correct Answer :-

e virtual image / ST fdfed

5) In a single throw of a die, what is the probability of getting a number greater than 1? /T IR

T Hhepe TR, 1 | 31T H=AT UTed B B! fopd=it GHTEAT gl 82

o | Ln

Wi | =k

w | =

4.

Correct Answer :-

ool

6) Deep and Rakesh have a total of 160 stamps. Deep has 10 more stamps than Rakesh. How
many stamps does Deep have? /&9 Gﬁ?ﬂ%ﬂ%ﬂmﬁ 160 WU m%mmaﬁmﬁ 10
P WU § 1 €U & U fora U §2



1.95
2. 100
3.85
4.75

Correct Answer :-

e 85

7) A boy sold his cap for Rs. 24 and got a profit percentage numerically equal to the cost price.

The cost price of the cap is: /Wﬁ%’%ﬁ&ﬂ‘ﬁﬂﬂ%ﬁﬁ%ﬂﬁﬁ?ﬁﬂﬂﬂﬂﬁﬁﬂﬁﬁﬂ%
TRIER Fia=ra @y wrd faan | <ndY &1 anrd gea A= 8

1. Rs. 20/20°%.
2.Rs. 18/18%.
3.Rs. 15/15%.
4. Rs.22/22%.

Correct Answer :-

e Rs.20/20%.

8) Areaofa square plot is 6050cm?. Length of its diagonal is: / TR Wie BT ETBT 6050 I

I+, 21 5T fauf &t wars A= gifi:
1. 55V2n
2. 55m

3. 110m

4. 100m

Correct Answer :-

e 110m

9) Which of the following is a perfect cube? / &= 7 P9 @ "= IIUf T 87
1. 270

2.2700



3.256

4,216

Correct Answer :-

« 216

10) Which one of the following is a plant disease caused by bacteria? / {59 % § &9 91 U&
ST F SRS TTRT UIGY T 7

1. Yellow vein mosaic of Bhendi / f¥Sl &1 ttar fRR1 dioid
2. Rust of wheat / ﬁ_ﬁ' &1 fabg

3. Citrus canker / ﬁ@ﬂw

4. Blight of potato / Gﬂﬁ‘«’ﬂﬁ?ﬂ

Correct Answer :-

« Citrus canker / ﬁ@ﬂw

11) The radii of two right circular cylinders are in the ratio 3:4 and heights are in the ratio 4:5.
The ratio of their curved surface area is: / I JHBIUT Qc_vﬂ'q I Bt A 3:4 F SIUTd TE e
D! SHATIYT 4:5 F JUTd | &1 ITP 99 Y56 &% d BT 3uTd A= 2:

1.3:5
2.2:5
3.2:3

4.1:3

Correct Answer :-

12) The measure of an angle is five times its complement. The angle measures: / TP I BT AT

3P RSP I UTT AT 8 | B0 ST A9 = 8

o

1. 80

o

2.75

o

3.30



o

4. 15

Correct Answer :-

o

e 75

13) The difference between the simple interest received from different banks on Rs. 8000 for 2

years is Rs. 20. The difference of the interest rates of two banks in percentage point is: / fH=1-
=1 IoT & 8000 ¥. TR 2 9Y H UTW HIYRUT TS H AR 20 ¥. 71 G SP1 BT <Tr & | Ufer<ra # v
= %:

1.2%
2.0.5%
3. 12.5%
4. 5%

Correct Answer :-

e 12.5%

14) The exterior angle of a regular polygon is one-third of its interior angle. The number of
sides of the polygon is: / T fafird Sg Y &7 9161 H10T 39F ATl HIvT BT TH-fagTs 31 TgYS Bt
Yot $t w@& e g

1.5
2.6
3.7

4.8

Correct Answer :-

15) What is the maximum number of students in which 175 bananas and 105 oranges can be

equally divided? / BT Y Sifwan = 471 g foFH 175 FA TYUT 105 Ha¥ SRTER-TRMER qic ol Hd
2

1. 140
2.5

3. 105



4. 35

Correct Answer :-

e« 35

16) What is the smallest number by which 16562 should be divided so that the result is a perfect
square? / {5 B} | B GBI A 16562 B fIUTfora far wire fo ufyomdt e gt ot 812

1.3
2.2
3.91

4,31

Correct Answer :-

17) Rancidity of oils and fats can be avoided by using ./ o TYUT THT Bt ﬁq’_d TifaT
_____ & SUUNT gRI §91 &1 9Pl g

1. antioxidant/?lﬁ&mw (Q_cpf@rlv'la:\‘:ﬁ@?)
2. antibiotic/m (@W)

3. colouring agent / T HR&®

4, preservatives / uReeis

Correct Answer :-

. antioxidant / TdSTRIBRS (U é|3'|=IJTIF\‘:ﬂA€';_C')

18) How is a disease diagonised? / I &1 e $A fFar Srar %?

1. Signs of the disease will decide the basis of the symptoms/@ﬂ%ﬁl%’, d&on &7 3MyR FuiRa B3
2. Signs and symptoms of the disease /ﬁ‘T & g 3R efor

3. Symptoms may indicate a disease /FT&WT@"TWWWW%
4. The body systems will be worsened / YRR YuTer faf IS SITE]

Correct Answer :-

 Signs of the disease will decide the basis of the symptoms/@ﬂ%ﬁl'_& d&on o7 3MyR FuiRa s



19) Which of the following is NOT a component of biotic community? / A Y sarsig HYclg &I

3aYq gl 82
1. Decomposer / AUYCH

2. Consumer / SUHTaT

3. Soil / HaTl
4, Producer/m

Correct Answer :-

20) Which one of the organisms is likely to have maximum concentration of harmful chemical DDT in the
aquatic food chain consisting of King fisher, zoo plankton, fish, and phytoplankton? / %‘Tﬁﬂﬂ

WITETa®, HSdl, Td UGy Wad | a1t T T &dl 8 B I T ol § giHeRS Iae
SIS1E ot siftreray Aigdr g1 &1 GHTE=1 g2

1. Zooplankton / TTfOrTa s

2. Phytoplankton / UTqU Widd
3. King fisher / fhTIfthRR

4. Fish / el

Correct Answer :-

» King fisher/ HIHIR

21) The total amount of water on earth is maintained by: / qﬁfﬁ R o[ Bt P HEAT DI AP GRT
ST TG 1T 3

1. Rain / @SF

2. Condensation / g
3. Evaporation / dT™-
4. Water cycle / SIcl dgh

Correct Answer :-

« Water cycle / ST dsh



22) What is chlorenchyma? / Eﬁﬂ GHddh WT%?
1. It is collenchyma containing chloroplasts. / T8 YANId® Jad gRaad® gl
2. It is parenchyma containing air /%WQ&HH@[%I

3. It is parenchyma containing chloroplasts. / g Hgd® gad giRdcdd o

4. It is sclerenchyma containing chloroplasts. / g Eq:ldd? gad gRdda® %‘I

Correct Answer :-

« Itis parenchyma containing chloroplasts. / g Hgd® Jdd giRdcdd %I

23) Male gametes or sperms are produced in the: / YgW® T Y[PTY] (ﬂ'ﬁE:H a1 ww) gad fAffa
eHd &:

1. Ovaries / 3SRY
2. Penis / fRreq

3. Testis / qUUI
4. Sperm ducts / X[sh d |%:i|

Correct Answer :-

o Testis / 9YUT

24) Which of the following represents a correct food chain? / Eﬁﬁﬁ? re] W?IT 3 ffua WT%?
1. Frog — eagle — insects — grass — snake / He® — TReg —dlg —UN I

2. Grass — insects — frog — snake — eagle / 9 —®ls —He® — T — T&S

3. Grass— frog — insects — eagle— snake / 9 —He®H —HIg — TS — T

4. Frog — snake — insects — grass — eagle / Tedh— Td — a%“r% —YH 5TR=g

Correct Answer :-
« Grass — insects — frog — snake — eagle / U —®ls —HED — IT — TS

25) A device which converts electrical energy into mechanical energy is: /agu'cr ol &t gifA® SHoit A
EUIARd e arelt ¢ fSarga e gt 8:

1. Electric generator / {dgdd SReR
2. Electric transformer / fagad TrIHIAR

3. Electric conductor / f[dgdd aTde



4. Electric motor / fagad Hicx

Correct Answer :-

« Electric motor / fagad A’

26) The defect due to which a person is not able to see the distant objects clearly is called ./dg

PR e R AR R It agei I e FUA IEA A A gla1g,  Fgamrs|
1. Hypermetropia / G €¥GIY

2. Cornea / DI

3. Myopia / e EPaN

4. Cataract / Hifqaieg

Correct Answer :-

» Myopia / fAwe =Py

27) Which phylum has animals without tissues, body bearing pores? /mmﬁ'm, IRR YRB AH

Xfed U I &7

1. Mollusca / HIdI%ehT

2. Porifera / TRIWRT

3. Cnidarian / RISRTA

4, Echinodermata /QEb—IST‘ﬁEIﬁET

Correct Answer :-

« Porifera / TRIWRT

28) Husk of the coconut is made of tissues. / ATNAA BT fSAPT Sddl A
CE RG]

1. collenchyma / AN

2. xylem and phloem / STSH TUT TATTH
3. scerids / THIRS

4. sclerenchyma /??,ﬁ?la’?

Correct Answer :-

e sclerenchyma /%@T‘IEF



29) Vehicles have treaded tyres so that it: / el | a@?; TR BId % qrfeb:
1. Decreases friction / gYU1 T¢

2. Decreases speed / Tfd HH Bl
3. Increases speed / Tfd 3 I
4. Increases friction / YT EI%

Correct Answer :-

 Increases friction / ?meTEI%

30) (9m°® + 12m%-6m?2) + 3m2 =
1.3m3 +4m? -2

2.3m3 + 12m* — 6m?

3.3m°

4.3m° + 4m* — 2m?

Correct Answer :-

e 3m3+4m? -2



